wn e
2 2l 5y I R|IZ|S
ua D a| be (=3 D «D =
[9) 5 a =% =% o
[*] va 3. S D =] =] 3
A > o 9 o = o I~
o 2 Pl o o o P
5 o, 3. S 3. S o =]
o —_ 3 o o o o 3 o
< 3 21 o v o = =} 2
- — ] =1 c =] = < =]
3 =, (Y] Iy [ a o [
— Q %) N = -~ - £
—~ P=g = 1) c > 0O
c 0} 5 =. N
o 3 o @ <
) < A o
= 3 2]S
— — o 8
3
>
“ ©
S 3
o
2
p2.1 [ 0.00 ’ 1,80 |174,40|176,20
4,00 |3 /g
§2.1 | 4.00 # 2,44 [173,86| 1,94 |174,36|176,30| PP DN1000
. o 2,44 173,86
=z
N
o
o
N
>
o
o
Nl
o
R
2.2 | 26,00 S°| 2,65 |173,75| 2,65 |173,75(176,40| PP DN630
o
=z
N
o
o
®
o
o
=
o
R
G2.3 44,00 ° | 2,03 |173,57| 2,03 |173,57|175,60| PP DN630
o
=z
N
o
o
N
o
o
o
<
L
o
32
.4 | 64.00 S| 1,83 |172,17| 1,83 |172,17|174,00| PP DN630
o
=z
N
o
o
N
>
o
o
>
o
R
2.5 | 86,00 S 1,86 169,64 1,86 [169,64|171,50| PP DN1000
o
=z
N
o
o
N
e
o
o
)
L
o
32
2.6 106,00 S| 1,86 |167,64| 1,86 |167,64|169,50| PP DN630
' o
=z
N
o
o
&
o
o
Ne)
N
o
32
2.7 124.00 S°| 1,87 |165,93| 1,87 |165,93|167,80| PP DN630
' o
=z
N
o
o
N
k=)
o
=
o
32
2.8 145.00 S| 1,88 |163,62| 1,88 |163,62|165,50| PP DN630
' o
=z
N
o
o
&
o
o
o
o
32
2.9 161,00 S| 1,82 |163,38| 1,82 [163,38165,20 | PP DN1000
* =]
~
© 3
o =y
o wul
=
PS2 170,50 & 3,00 |162,00| 1,76 |163,24]165,00 PRZEPOMPOWA PS?
P.p. 160,00 m
p2.2 | 0.00 : 1,80 |174,60|176,40
4,00 5 /f
2.2 L 4.00 # 2,65 [173,75| 2,15 |174,25|176,40 | PP DN630 -
P.p. 160,00 m
p2.3 | 0.00 : 1,80 |174,00|175,80
4,00 & /§ /
§2.3 L4.00 # 2,03 |173,57| 2,03 |173,57|175,60 | PP DN630 |
P.p. 160,00 m
p2.4 | 0.00 1,80 |172,60|174,40
1,90 z 172,46 174,27 | istn. kabel energ. NN Ro=173,27
6,00 |° /
2.4 L 6,00 #| 1,83 [172,17] 1,83 |172,17/174,00| PP DN630 /
P.p. 160,00 m
p2.5 | 0.00 . 1,80 |172,40|174,20
4,00 & /3 /
§2.4 L4.00 # 1,83 [172,17| 1,83 |172,17|174,00| PP DN630 |
P.p. 160,00 m
p2.6 | 0.00 : 1,80 |169,90|171,70
4,00 & /g /
§2.5 L4.00 7 1,86 |169,64| 1,86 |169,64|171,50 | PP DN1000 .
P.p. 160,00 m
p2.7 | 0.00 : 1,80 |167,80|169,60
4,00 g /g
§2.6 400 # 1,86 [167,64| 1,86 |167,64|169,50| PP DN1000
P.p. 160,00 m
p2.8 | 0.00 . 1,80 |167,20|169,00
2,50 6.00 §/ 166,67 |168,50 | istn. kabel energ. NN Ro=167,50
g2.7 L6,00 +| 1,87 |165,93| 1,87 |165,93|167,80| PP DN1000 £ .
P.p. 160,00 m
p2.9 | 0.00 . 1,80 |164,60 166,40
2,40 6.00 5/ 164,21|166,04 | istn. kabel energ. NN Ro=165,04
g2.8 L 6.00 ¥ 1,88 |163,62] 1,88 |163,62|165,50| PP DN1000
P.p. 160,00 m
p2.10 |-0.00 . 2,00 |164,00 166,00
4,00 & /5 /
2.8 L4.00 # 1,88 [163,62| 1,87 |163,63|165,50| PP DN1000 .
P.p. 160,00 m
0,00 1,80 |164,20|166,00
P2.11 S -
1,80 00 3/ 163,91]165,71| istn. kabel energ. NN Ro=164,64/
5, S 3
52.9 500 # 1,82 163,38| 1,81 |163,39|165,20| PP DN1000 - y
P.p. 160,00 m
p2.13 |-0.00 . 1,60 |164,75|166,35
5,00 & /g
$2.12 | 5.00 # 1,60 |163,60| 1,10 |164,10|165,20| PP DN1000
. ) 1,60 [163,60
N
8
o
o
o
S
=
$2.13 | 18.00 & 1,83 |163,47| 1,83 |163,47|165,30 | PP DN630
o
=z
N
o
o
N
N
o
o
5
o
32
.14 | 40,00 S| 2,05 [163,25| 2,05 |163,25|165,30| PP DN630
o
=z
N
o
o
&
o
o
5
o
32
$2.15 | 38.00 S| 2,03 [163,07| 2,03 |163,07|165,10| PP DN630
* o
=
.8
N
o
o -
=1
=
$2.16 | 70,00 & 2,05 [162,95| 2,05 |162,95/165,00 | PP DN630
: o
72,80 =z 162,92 1162.00
/3,70 N 164,911165,0U
8
N
Nl
o
o
5
o
32
.17 195.00 S| 2,30 |162,70| 2,30 [162,70|165,00 PP DN1000
. 300 DN 200
PSZ 98,00 ’ 10,0 % 3,00 162,00 2,33 162,67 165,00] PR7FPOMDO\A.A PSZ
P.p. 160,00 m
p2.12 | 0.00 . 1,80 |167,80|169,60
~ F
4,60 8 - 167,52 169,40 | istn. kabel energ. NN Ro=168,40
$2.10 |7.00 = # 1,92 [167,38] 1,92 |167,38|169,30 | PP DN630 /
=z
N
o
o
N
s
ul
o
o
o
R
.11 |30.50 S°| 1,77 |167,03| 1,77 |167,03|168,80| PP DN630
32,70 g 166,85 168,65 | _istn. kabel energ. NN Ro=167,49
N
o
o
N
&
o
o
(o)
o
77,20 g 163,29 165,10 istn. kabel energ. NN Ro=1
78,50 S| 2,30 |162,70| 1,81 [163,19[165,00] PP DN630
S2.17
P.p. 160,00 m
P2.14 | 0.00 : 1,60 |164,40|166,00
6,00 ° /
2.3 L 6,00 % 1,83 |163,47 1,33 [163,97165,30] PP DN1000 .
w o
218 _fg
2| 2 egz =
N & P 3
S| 3] 85w 8
2 25 2
s8m °
=
RE 3 28|\
- | £ @E |
SR s 2 EE IS
1z |2 -
,% s Z |3 ow R
&1z 88 32% @
= 8 ; - P b3 —
$12 3 ]8 g8 | =)
£ g 335 | =
N § 3
2 N
D o
1]
SN
o 2
e} 3 §9 ‘P
g = 2= |3
s| €| = vz |9
< o c LY | = s
IS a7 |
~ o N
2|33 85 E§
£ 5 w3 :
212 %] §5/58
8 | R 52§ 3
N & w W\
D o Q ‘<
g,nn = 17
= = 2 oot
7 7} O, (7] ()
S S < 3
T8 8 & n
a (=N ~
By 3 S
5= a s
o 2
3
j=
)
o Z 133
2|2 2%
T Y |8
wv O O>\<



